Question for written answer E-004194/2021
to the Commission

Rule 138

Marian-Jean Marinescu (PPE)

Subject: Emissions Trading System for maritime transport

Assuming that the Emissions Trading System (ETS) for maritime transport, as proposed in the Fit for
55 package, will be fully implemented:

1. What will the additional cost per kilometre for goods transported via maritime transport be in
2030, both for intercontinental and short sea shipping?

2. What will the total cost of investment needed for the application of the ETS for maritime transport
be in 20307

3. What will the ratio of new jobs to lost jobs be in 20307
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